XXXII PENYBTMKAHCKA CTYOEHTCKA OTMMNUALA MO NPOTrPAMUPAHE
AYEl, bnaroesrpaga, 09.05.2020

3agaua G. IbTUIIA

Pa3rne>1<naMe TOYKH C HCIOYUCIICHHU KOOPpANHATH (X,y) B paBHUHATA. Hsxown ot Toukute ca CBBpP3aHHu C
XOPU3OHTAJIHA WJIM BCPTHUKAJIHA OTCCUKa AO HAKOU OT YCTUPUTC UM HaKi-OJIM3KU TOYKH HU3MCKIY
AaJCHUTE, HaMHpalld C€ OTrope, OTA0JaY, OTIABO HIIM OTIASACHO. H’bT, CBBbp3Balll ABC TOYKHW HapudamMe
MMOCJICAOBATCIIHOCT OT OIMMCAHUTC OTCCUKHU, YPC3 KOUTO OT €JHATA TOYKA MOKEC a OTUACM OO0 Apyrara.
,HBa IIbTA Ca pa3IM4YHU, aKO CbOTBECTHUTE UM IIOCICAOBATCIHOCTH OT OTCCUYKH Ca pPa3IM4YHU. B CAUH
II'bT MOXKC J1a MMa NOBTOPCHUA HAa CAHU U CHIIHU OTCCUKHU. I[’bJI)KI/IHa Ha IIbTA € 6pOSIT Ha OTCCUYKUTC B
IMOCJICA0OBATCIIHOCTTA, OIIPCACIIAIIA ITbTA. Hanumere [Iporpama, KosaTO HaMUpa KOJIKO Pa3jIMdHU IIbTA
C JaZiCHa OBbJDKHMHA CBBbP3BAT ABC JAACHHU TOYKH.

Bxoa. Ha mepBust pen Ha cTaHnapTHUS BXOJ € 3a/1aJieH OpoAT Ha TecToBeTe. J[aHHHUTE 3a BCEKH TECT
3amoyYBar ¢ pejl, Chabpikaill opos K Ha orceukute. CrenBaT K pesia, BCeKH OMUCBAIIL €[HA OTCEUKA: JIBE
JNBOMKM KOOpAMHATH, 3a/aBallld JBET€ KpalHM To4yka Ha otrceukara. CiienBa pei, ChIbpKall
nbikuHata L Ha Thpcenute mbTHINAa U Opos Q Ha BBIpocUTe KbM Iporpamara. Beceku BbIpoc €
3amucaH Ha OTHEJIEH pel U Ce ChCTOM OT KOOpAMHATUTE Ha JABE TOukd. Yucnara BBB BXoja ca
pasneneHd ¢ uHTepBaiu. /laieHuTe OTCEUKH ca pa3nuvHU. PaznuuHu ca W JABETE€ KpalHM TOYKU Ha
BCSIKa OTCEUKa.

H3xon. [Iporpamara TpsiOBa 1a M3Be/Ie 3a BCCKH TECT HA OTICIICH PeJl Ha CTaHAaPTHUS U3XO]l IO STHO
LSJI0 HEOTPHUIATEITHO YMCIIO, ChOTBETCTBAIO Ha ThpceHust Opoil (mpecmerHar o moayn 100000007)
IBTHUIIA C IBDKUHA L 110 pena Ha BhIIPOCHUTE.

Orpanuvenns. 1 < k <190; 0 <L <100; 0 < Q <7. KoopauHaTuTe Ha TOYKHTE BHB BXOJIa Ca ICIIN
MIOJIOYKUTEITHH YKCIIa, TO-MaJIKH OT 15.

IIpumep:

Bxopx H3xon IlosicHeHue

2 3 durypata WIIOCTpHUpa IbPBUS TECT BbB BX0Ja. Mex 1y
7 8 toukute (1,3) u (3,3) uma Tpu pa3IuyHU IBTS C
1 323 0 IbIKUHA 4 U Te ca:

2 333 3

3343 (1,3)-(2,3)-(1,3)-(2,3)-(3,3);
1222 (1,3)-(2,3)-(3,3)-(2,3)-(3,3);
2221 (1,3)-(2,3)-(3,3)-(4,3)-(3,3).
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We consider set of points with integer coordinates (x,y) in the plane. Some of the points are connected
by a horizontal or vertical straight line segments to some others of their four closest points, located up,
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down, left or right. We call a path connecting two points a sequence of the given segments by which
we can go from one of the point to the another. Two paths are different if their respective sequences of
segments are different. There may be repetitions of same segments in the path. The length of the path
is the number of segments in the sequence that defines the path. Write program that finds how many
different paths of a given length connect two given points.

Input. The first line of the input contains the number of the test cases. The data for each test begins
with a line of the standard input containing the number k of the segments, followed by k lines, each
describing one segment: two pairs of coordinates, specifying the two endpoints of the segment. The
following line contains the given length L and the number Q of questions. Each question is written in a
separate line and consists of the coordinates of two points. The numbers in the input are separated by
spaces. All the given segments are different. Both end points of each segment are also different.

Output. The program must output on separate lines of the standard output, one non-negative integer
per line, equals to the found number of paths (reduced by modulo 100000007) with length L,
corresponding to the order of the questions.

Constraints. 1 < k <190; 0 < L <100; 0 < Q < 7. The coordinates of all points in the input are
positive integers less than 15.

Example:

Input Output Explanation

2 3 The figure illustrates the first test in the input. Between points
7 8 (1,3) and (3,3) there are three different paths of length 4 and
1323 0 they are:

2 3 3 3 3

3343 (1,3)-(2,3)-(1,3)-(2,3)-(3,3);

1222 (1’3)'(2’3)'(313)_(2!3)'(313)1

2 221 (1,3)-(2,3)-(3,3)-(4,3)-(3,3).
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